wens LP 3P ZR A

Vertical vacuum inlet with buffer

4l ZP3P - T20 PTSFJ 10-B5

T i
Pad diameter b 1
symbol | Pad diameter P
20 020 /
25 025
35 035 .
50 250 Vacuum inlet
Pad material Stroke Size 220, 025 | 935, 650
symbol material Female| BS | M5x0.8 [ ] -
SF Silicone rubber thread | BO1 Rc1/8 - [ ]
pbStroke ()
Buffer specificatione symbol Stroke 920, 025 | 935, 050
[ J | Non-rotating | 10| 10mm [] [
[ K| Rotating | 20 20mm ] ®
Specifications
. —_ A ’ ) Spring reactive force
Buff ficati Tight t
Pad diameter uffer specification stroke ightening torque | Conncetion thread At O stroke At full stroke
20, 025 JIK 10, 20 2.5—3.5 M10 % 1 1.0 3.0
235, 050 J/K 10, 20 6.5—7.5 M14 x 1 2.0 5.0
Dimensions: With Buffer
ZP3P-T20PTSFJH-B5 ZP3P-T20PTSFKH-B5
M5x0.8 M5x0.8
Hexagon width across flat 8 Hexagon width across flat8 i
il i
0 ] 0
) Hexagonwwdthacru&sﬂatar | Hexagonwidth across flat 14 ”7
o = o P
(<] (2]
o o .
miox1 | [ ][] m10x1 ||
]
Gasket I] Gasket
< - Width across flats 14, M M5x0.8 < - Width across flats 14 L7 M5x0.8
&~ N~ L
2.5 «© 02.5 @
220 020
7/ \&2
Dimensions Dimensions
Part no. A B D Weight Part no. A B D Weight
ZP3P-T20PTSFJ10-B5 325 68.5 23 26.7 ZP3P-T20PTSFK10-B5 32.5 68.5 23 28.5
ZP3P-T20PTSFJ20-B5 42.5 106.5 51 40.8 ZP3P-T20PTSFK20-B5 42.5 106.5 51 41.8




Z P 3 P /% 5” vacuum pad

Dimensions:WithBuffer

ZP3P-T25PTSFJ-B5

__M5x0.8_
Hexagon width across flat 8

3

| Hexagon width across ﬂam"_
O
e e
«®
m
M10x1_| |

ZP3P-T25PTSFKI-B5

_M5x0.8_
Hexagon width across flat 8

o] Hexagon width across flat 14

(O
o T
o
o i
mi10x1_|[[

1]
Gasket Gasket
< 0 Width across flats 14 il M5x0.8 < ey Widthacrossflats 14 M5x0.8
=l — e
§f s E NS
- —] ! - —] |
2.5 N 02.5 N1
025 225
(77
SN
15
Dimensions Dimensions
Partno. A B D Weight(g) Part no. A B D Weight(g)
ZP3P-T25PTSFJ10-B5 33 69 23 271 ZP3P-T25PTSFK10-B5 33 69 23 28.5
ZP3P-T25PTSFJ20-B5 43 107 51 4.2 ZP3P-T25PTSFK20-B5 43 107 51 42.2

ZP3P-T35PTSFJI-BO1

ZP3P-T35PTSFJ10-B01

ZP3P-T35PTSFJ20-B01

Hexagon width across flat 13 Rc1/8
Hexagon width across flat 13
J: J: Non-rotating
D-D
1 @
T T
D D
o Hexagon width across flat 19)
o S 3
© L
) )
M14x1 |_
< o Width across
& o | flats 21
24|
235
Dimensions
Part no. A B Weight(g)

ZP3P-T35PTSFJ10-B01 37.5 104 93.6
ZP3P-T35PTSFJ20-B01 47.5 109.5 94.6

ZP3P-T35PTSFKH-BO1

ZP3P-T35PTSFK10-B01

ZP3P-T35PTSFK20-B01

Hexagon width across flat 13
K. K:Rotating
D-D

@ o

Hexagon width across flat 13 Rci1/8
T T
D D
1o |Hexagon width across flat 19 !
| ==
m [t)
Mi4x1 || !
< -
© 'Width across
Q| o |flats 21
o4 |
235

Dimensions

Part no. A B Weight(q)
ZP3P-T35PTSFK10-B01 | 375 | 104 | 930
ZP3P-T35PTSFK20-B01 | 475 | 1095 | 941




waems ZP 3P 2R A

Pad with Adapter

ZP3P-T50PTSFJI-BO1
ZP3P-T50PTSFJ20-B01

ZP3P-T50PTSFKI-BO1

ZP3P-T50PTSFK10-B01 ZP3P-T50PTSFK20-B01

ZP3P-T50PTSFJ10-B01

Hexagon width across flat 13 Rei/8 Hexagon width across flat 13 Rc1/8
Hexagon width acrossflat 13 Hexagon width across flat 13
J: Non-rotating ) K:RotatingD-D
D-D
i o - @
D D § D D i
1 xR i Gt 19 L6 | Hexagon width across flat 19
B IR B A
L L
[fe} wn
[14] m
i — | U
M14x1 | [ Gasket M14x1 | [ Gasket
M8x1.25 M8x1.25
< Width across flas 21, < Widthacross flats 21,
«© @
Al o #; Nl 5
a = « H
I om I i
@ 0 LQ
04 | < o4 | <
250 250

Dimensions Dimensions

Part no. A B Weight(g) Part no. A B Weight(g)
ZP3P-T50PTSFJ10-B01 40.5 107 101.3 ZP3P-T50PTSFK10-B01 40.5 107 100.7
ZP3P-T50PTSFJ20-B01 50.5 1125 | 102.3 ZP3P-T50PTSFK20-B01 50.5 1125 | 101.8




ZP3P A wamn

Pad with Adapter

=]

HE

Male thread

Component Parts

Female thread

No. Description Material(Surface treatment) Note

1 Vacuum pad Silicone rubber

2 Adapter Aluminum alloy (Clear anodized)

3 Gasket Stainless steel/ NBR Thread size: Other than M12*1.75

Seal washer

Structural steel/NBR

Thread size: M12*7.5

Pad with Buffer

Component Parts

No Description Material(Surface treatment)

1 Vacuum pad Silicone rubber

2 Adapter Aluminum alloy (Clear anodized)
3 Piston rod Stainless steel

4 Buffer body Brass(ELectroless nickel plating)
5 Return spring Stainless steel

6 Buffer adapter Brass(ELectroless nickel plating)
7 Nut Steel (Zinc chromated)

8 Gasket Stainless steel/NBR




Parts Structure Ry ZP BP /% ﬁIJ

With T Type Adapter

ZP3P-T(20~50)PTSF-(A5/AG1/A12/AG2/AG3)

ZP3P-T(20~50)PTSF-(B5/B8)
(2T male thread adapter assembly(With gasket)
3 Partna. Pad diameter 20 25 35 50
ZP3PA-T1-A5 — —

[ [
ZP3PA-T1-AG1 [ ) [ )

ZP3PA-T2-A12 [ ®
ZP3PA-T2-AG2 - - [ [
] [ ]

ZP3PA-T2-AG3 - -

(2)T female thread adapter

\
Pad diameter
2T male thread ada- [@T fema hread Part no. 20 25 35 50

ter assembl ada er
P y pt ZP3PA-T1-B5 [ ) [ )
ZP3PA-T2-B8 = =

@Pad unit

Part no.
ZP3P-20PTSF
ZP3P-25PTSF
ZP3P-35PTSF
ZP3P-50PTSF

L 3

(1) Pad unit

.

 §

-~

With Buffer

J

(3)Buffer assembly
Pad diameter

Part no,
ZPB2(J/K)10-B5
\ ZPB2(J/K)20-B5
(3Buffer assembly ZPB3(J/K)10-B01
t ZPB3(J/K)20-B01 —

(2)T female thread adapter

? Pad diameter 20 25 35 50
Part no.

(2T female thread adapter ZP3PA-T1-B5 [ ] [ ] - -
1 ZP3PA-T2-B8 = - M °®

@Pad unit

Part no.
ZP3P-20PTSF
. ZP3P-25PTSF
, ZP3P-35PTSF
@DPad unit ZP3P-50PTSF

L LR
L LN




ZP3P Series

Vacuum Pad

Male thread adapter

Adapter model | ZP3PA-T1-A5 [Weight:2.1g] Adapter model ZP3PA-T2-AG2 [Weight:9.8g]
212 024
M5x0.8 S| L —
;”). 025 Gasket | BHLHE
© ©
T 0
n
Width across flats 21
§ Width across flats 2.5 ™
= p 3 o |
?_’- 07.5 Suitable pad model o 010.7 Suitable pad model
010 ZP3P-20PTSF 013 ZP3P-35PTSF
ZP3P-25PTSF ZP3P-50PTSF
Adapter model ZP3PA-T1-AG1 [Weight:4.1g] Adapter model ZP3PA-T2-AG3 Weight:16.4g]
016 024
G1/8
06
| Seal washer - Seal washer
© E
0 10
< » ©
REEEE4 Widthaoross flats 2
) o
o X
2 '5_3,J Suitable pad model py %—L Suitable pad model
210.
2 ZP3P-20PTSF o5 ZP3P-35PTSF
ZP3P-25PTSF - ZP3P-50PTSF
Adapter model ZP3PA-T2-A12 [Weight:16g]
024
M12x1.75
7% S— Gasket
@
[} ~
b Ll
e
©
FHEEE21
o
N ﬂ,J Suitable pad model
o ZP3P-35PTSF
— ZP3P-50PTSF
Female thread adapter
Adapter No. ZP3PA-T1-B5 [Weight:3.1g] Adapter model ZP3PA-T2-B8 [Weight:8.5g]
016 024
M5x0.8 M8x1.25
~ A B LOI © ] ®
Width across flats 14 — »
Width across flats 21, Widh across lats 21
0 b emeRel
o &
<_T B D
2 08 | 3 o4 |
%7.5 Suitable pad model 210.7 Suitable pad model
210 ZP3P-20PTSF 013 ZP3P-35PTSF
ZP3P-25PTSF ZP3P-50PTSF




vacuum pad ZPBP%?U

Buffer assembly model
- Weight:21.8 - Weight:23.6
Buffer assembly model (1) ZPB2J10-B51 efg t:21.8g] G hssia S (1) ZPB2K10-B5[Weig gl
(2) ZPB2J20-B5 [Weight:35.9g] (2) ZPB2K20-B5[Weight:36.99]
M5x0.8 M5x0.8
Hexagon width across flat 8 Hexagon width across flat 8
Hexagon width ] Hexagon width ]
across flat 14 TI 2} across flat 14 :] T¢]
> rat 18 L — |
oh_\ oh\
13} (D m Q
a s Q C
< | o < |o
M10x1 T | M10x1 __. |
4 Gasket Gasket
S (1=0.5) (1=0.5)
T
< 02.5 - 02
M5x0.8 M5x0.8
Dimensions Dimensions
Partno. A B D Suitable pad mode| with adapter Partno. A B D Suitable pad model with adapter
ZPB2J10-B5 34 47 23 ZP3P-T20PTSF-B5 ZPB2K10-B5 34 47 23 ZP3P-T20PTSF-B5
ZPB2J20-B5 72 85 51 ZP3P-T25PTSF-B5 ZPB2K20-B5 72 85 51 ZP3P-T25PTSF-B5
- Weight:80.4 - Weight:79.8
Buffer assembly model (1) ZPB3J10-BO1![ efg gl T (1) ZPB3K10-B01 [Weig gl
(2) ZPB3J20-B01 [Weight:81.4g] (2) ZPB3K20-B01 [Weight:80.9g]
ZPB3K10-B01 ZPB3K20-B01

ZPB3J10-B01 ZPB3J20-B01
Hexagon width acrossflat 13 Re1/8 Hexagon width
across flat 13

Hexagon width across flat 13 Ret/s gfr?s%of{‘aﬂdsm
m | 1 [11]
T T T 1
D D D D
Hexagon width Hexagon width
| acrossflat 19 across flat 19
ol |o & } o | [
< [ K (
0 < |5
i [ T1[ Miax1 | ] | i
— L |
Gasket [
- o il )
04
04
M8x1.25 M8x1.25
J: Non-rotating K:Rotating
D-D D-D
Dimensions Dimensions
Partno. A B Suitable pad model with adapter Partno. A B Suitable pad model with adapter
ZPB3J10-B01 62 78.5 ZP3P-T35PTSF-B8 ZPB3K10-B01 62 78.5 ZP3P-T35PTSF-B8




